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KEY
PreCalc 5.3E - Solving Multiple Angles Trig Equations

SHOW ALL WORK IN YOUR NOTEBOOK!

Solve. Give the general solution for each.
1. sinX-=0 2. sec4x =2

3. mngzl 4. tan’36=3

5. 3Tan%+3=0

Solve over [0, 2m). Round to 4 decimal places if necessary.
6. 2sinx + cosx = 0; [0, 2m) 7. tan’x - 6tanx +5=0

8. tan’x + 3tanx+1=0

Answers:
1. x=2zn,nis integer

2 )(—£+”—,7 x—5—”+ﬂ7 nis integer
ke - T B 9

3. x= 37” +37zn, nis integer

4. 0=%+%ﬂ, 0=%+%”,nisin‘reger
3z 5 o
B, a=?+2;m,n|s infeger

6. x ®2.6779,5.8195

M. «~1.3734, 45150

M
7. 5=k 2
4

8. x #27767,5.9183, x # 1.9357,5.0773
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Solve. Give the general solution for each.

Lsnf=0 7 .@Q 2 (3X=lo +277n)2
2 (5 X +3mn)2

X

XZ 0491
X= 2 +97n
nez

¥ tan combink 1©  X=©+ 2nn

% 2. secdx =2 \E l\ .
'-IZ-FS ' N
% (yx=(F+2mn)? ‘5‘/(‘/)()-‘(?‘4- 27n)%
X= -,tm X = %_, zzzb NEZ

3. 'ran—-l 6’2 1
]

[.n'+77n)3 3(.3&):(23‘-;7/’7) 3

X=

3.‘2,2“-:-3770 \"-’—f}” X= 1504370

nNe

4, ran 363"

Tan3e = 03

Sp

¥ fan Lombin wivh
othet 2 answers

answeér

Xcan qcomb:‘nc with 73T

A 5 ] ﬁ
{ ' -
W

4 (30= 47 +(3eF (3+mn )%

S T ©= F+T |2 [nez

S(aeF(+mn)S 2 /3er(5T

—

¥ n)t

Ce T o e
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#

-
5. 31cm%+3=0 '

L
N

3rane =-3
27T s lm): 2 (A {F )
Tan < = - w:%ﬂ'-;-zvm o(:?)_?“..f.z?]n
NeZ K-Can-Combne with

IST dnswer

Solve over [0, 2m). Round to 4 decimal places if necessary.

6. 2sinx + cosx = 0; [0, 2m)

> 2
(25inX)= £ CosX)
450X = €os*X

HSinTX —Cos *X = O % Pythay tn

H435int¥ + %n*X -1 =0

55in*X~-1<0 sx%-]=0 a=5 b=o ec¢=-l
sipx= ~-oF+Jo?4(s)-D = * U

'Po‘w 2(5) 106 _-n%
sin”' (22) =x s’ (-Z)=x &
7~
X= W EXTIANeoVS X= ~.4¢3¢

N

T

T=,463 3 26780

|
D?l '=,403¢

T4,40307 35052 | 27 - 4%
R exwanress =| 5 81%

¥ MUST (Gheck £oC exrraneouws SeluBonS!

250X +C05 X0
25'n(,4463¢) ¥ Cos (L4,3¢) =0
[, 7888 #O
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%

7. tan’x - 6tanx +5:=0

X*-tx+5 =0
(tan x-%) (ran X-1) =0 ( X-5)(X-1) =0
Tanx-5 =6 tanx -1 =o

@ij'c‘.g tanX =5 TanXx =1

o

hh e | g

tan~'(5)=X T 41,373 - q x= 27
x= 1,373 [x=4.5150

2 -
8. tan°x + 3tanx+ 1= 0 X243y 4| = O

tany = -3+\J(3*-9(n() - -3+05

20) 2

» N9
T'anX“S__IS'V—‘Bszo S funx=-3-g?

tan” (~34F) = tan” (-32) =x

X = =349 X =-)2059 %
W%—-ﬂ ,ZTI ﬂ?kl\_‘ o &\ 0,27
X=1T-,36Y9 X=217-,3641 X= 1 -)2054 X= 27 ~),2059

X®17767 X% 54,83 X&) 49357 X% 50773

—
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